District School Board of Pasco County Bid Recommendation

Bid Title	Plumbing Supplies Maintenance Department	Number of Vendors Notified	224
Bid Number	07-031-LR	Number of Bids Distributed	17
Date Solicited	June 20, 2006	Number of Vendors Bidding	2
Date Opened	July 14, 2006	Number of Formal "No Bid" Responses	0
Date Board Presentation	July 25, 2006	Funding Source	Asset
Total Savings	\$8,197.50	Grand Total of Bid	\$38,734.68

Recommendation:

Recommend acceptance of bid from Hughes Plumbing Supply, LTD, as noted on the attached bid tabulation sheet, as lowest and best, responsive and responsible "all-or-none" bid meeting written specifications.

Term of Contract:

This bid is for plumbing supplies for the Maintenance Department for use throughout the District. This is a one-time purchase.

Notations and Exceptions:

Offers from the vendors listed herein are the only offers received timely as of the specified opening date and time. All other offers submitted in response to this solicitation, if any, are hereby rejected as late.

Bids Evaluated By:

Jean Jumonville, Crew Chief, Maintenance Department

Bids Prepared By:

Laurie Roberts, CPPB, Buyer, Purchasing Department

Reviewed and Authorized By:

Kendra Goodman, CPPB, Purchasing Agent

Date/Time: July 19, 2006 10:26:00

DATE OF	OPENIN	IG: July 14, 2006 @ 2:30 P.M.			Best Plumbing	Specialties, Inc.	Hughes Pluml	oing Supply, LTD
BID TITLE	: Plumbi	ng Supplies - Maintenance Dept.			3039 Ventrie Court / PO Box 30		8326 Lemon Road	
BID # 07-0	31-LR				Myersville, MD 21773		Port Richey, FL 34668	
		Board Meeting 7/25/06						
ITEM#	QTY	DESCRIPTION	OEM	OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPA24	40	4" PVC DWV 1/4 Bend		X	\$3.42	\$136.80	\$4.31	\$172.40
		Manufacturer / Product #			·	/ 6161558	·	arlotte
NPB33	25	1 1/2" PVC Press 90° Elbow		Х	\$0.93	\$23.25	\$0.56	\$14.00
		Manufacturer / Product #			· ·	406-015	·	pears
NPB51	25	1 1/2" PVC Press x F.I.P. Adapter		Х	\$0.81	\$20.25	\$0.43	\$10.75
		Manufacturer / Product #			Nibco /	435-015	Sr	pears
NPB59	25	2" PVC Press x M.I.P. Adapter		Х	\$1.07	\$26.75	\$0.56	\$14.00
		Manufacturer / Product #			Nibco /	436-020	Sp	pears
NPB60	25	1 1/2"" PVC Press x M.I.P. Adapter			\$0.81	\$20.25	\$0.43	\$10.75
		Manufacturer / Product #			Nibco /	436-015	Sp	pears
NPB61	50	1 1/4" PVC Press x M.I.P. Adapter			\$0.61	\$30.50	\$0.32	\$16.00
		Manufacturer / Product #			Nibco /	436-012	Sp	pears
NPB62	200	1 " PVC Press x M.I.P. Adapter			\$0.50	\$100.00	\$0.26	\$52.00
		Manufacturer / Product #			Nibco /	436-010	Sp	pears
NPB63	200	3/4" PVC Press x M.I.P. Adapter			\$0.85	\$170.00	\$0.15	\$30.00
		Manufacturer / Product #			Genova	/ 6151518	Sp	pears
NPB64	200	1/2" PVC Press x M.I.P. Adapter			\$0.22	\$44.00	\$0.13	\$26.00
		Manufacturer / Product #			Genova	/ 6150635	Sp	pears
NPI55	24	4 oz. can Teflon Pipe Dope		X	\$2.50	\$60.00	\$3.47	\$83.28
		Manufacturer / Product #			Hercule	s / 15420	C	atey
NPJ90	150	Sloan V551-A Vacuum Boot	X		\$2.32	\$348.00	\$1.90	\$285.00
		Manufacturer / Product #			Sloan /	V-551-A	S	loan
NPJ68	192	Wax Bowl Ring		Х	\$1.35	\$259.20	\$0.48	\$92.16
		Manufacturer / Product #			Best /	011005	C	atey
NPJ70	50	Spanner Flange		Х	\$1.07	\$53.50	\$4.26	\$213.00
		Manufacturer / Product #			EzFlo	/ 40010	Fe	ernco
NPJ69A	100	Yellow Soft Foam Urinal Gasket		X	\$2.54	\$254.00	\$1.81	\$181.00
		Manufacturer / Product #			Best / 3-3	34x2-14x58	Jones Ste	ephens Corp

DATE OF	OPENIN	NG: July 14, 2006 @ 2:30 P.M.			Best Plumbing	Specialties, Inc.	Hughes Plum	bing Supply, LTD
BID TITLE	: Plumb	ing Supplies - Maintenance Dept.			3039 Ventrie Court / PO Box 30		8326 Lemon Road	
BID # 07-0	31-LR				Myersville,	, MD 21773	Port Richey, FL 34668	
		Board Meeting 7/25/06			•			
ITEM#	QTY	DESCRIPTION	OEM	OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPJ76A	50	Set White Closet Bowl Caps		Х	\$0.11	\$5.50	\$0.38	\$19.00
		Manufacturer / Product #			EzFlo	/ 40039	Jones Ste	ephens Corp
NPD24	20	1" Copper 90° Elbow		Х	\$3.30	\$66.00	\$1.86	\$37.20
		Manufacturer / Product #			Nibco	o / 607	M	ueller
NPD26	200	1/2" Copper 90° Elbow		Х	\$0.59	\$118.00	\$0.34	\$68.00
		Manufacturer / Product #			Nibco	o / 607	М	ueller
NPD44	50	1/2" Copper St. 45° Elbow		X	\$1.26	\$63.00	\$0.62	\$31.00
		Manufacturer / Product #			Nibco	/ 606-2	М	ueller
NPD55	10	3" Copper Repair Coupling (less stops)		X	\$27.04	\$270.40	\$14.09	\$140.90
		Manufacturer / Product #			Nibco	o / 601	М	ueller
NPD66	10	1 1/2" Copper x M.I.P. Adapter		X	\$9.68	\$96.80	\$5.61	\$56.10
		Manufacturer / Product #			Nibco	0 / 604	М	ueller
NPD67	10	1 1/4" Copper x M.I.P. Adapter		X	\$8.44	\$84.40	\$4.89	\$48.90
		Manufacturer / Product #			Nibco	0 / 604	М	ueller
NPD80	50	1/2" Copper x F.I.P. Adapter		X	\$1.97	\$98.50	\$1.15	\$57.50
		Manufacturer / Product #			Nibco	0 / 603	М	ueller
NPE04	10	1" Copper Sweat x Sweat Union		X	\$15.58	\$155.80	\$8.39	\$83.90
		Manufacturer / Product #			Nibco	0 / 733	М	ueller
NPE28	100	1/2" Copper Two Hole Strap		X	\$0.53	\$53.00	\$0.21	\$21.00
		Manufacturer / Product #			Nibco	0 / 624	М	ueller
NPE29	100	3/4" Copper Two Hole Strap		Х	\$0.73	\$73.00	\$0.36	\$36.00
		Manufacturer / Product #			Nibco / 624		М	ueller
NPR64	30	1/2" M.I.P. Boiler Drain		X	\$2.13	\$63.90	\$3.41	\$102.30
		Manufacturer / Product #			Watts /	0820903	N	libco

DATE OF	OPENIN	IG: July 14, 2006 @ 2:30 P.M.			Best Plumbing	Specialties, Inc.	Hughes Plumbi	ng Supply, LTD
BID TITLE	: Plumbi	ng Supplies - Maintenance Dept.			3039 Ventrie Co	ourt / PO Box 30	8326 Lemon Road	
BID # 07-0	31-LR				Myersville, MD 21773		Port Richey, FL 34668	
		Board Meeting 7/25/06						
ITEM#	QTY	DESCRIPTION	OEM	OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPR25	10	1" Full Port Sweat Ball Valve		X	\$6.68	\$66.80	\$5.34	\$53.40
		Manufacturer / Product #			LDR / 0	202272	Nik	000
NPR71	50	3/4" Hose Bibb Vacuum Breaker		X	\$21.02	\$1,051.00	\$1.48	\$74.00
		Manufacturer / Product #			Watts / (0611450	Wa	atts
NPR81	50	4-Way Sillcock Key		X	\$1.57	\$78.50	\$1.70	\$85.00
		Manufacturer / Product #			EzFlo /	45401	Jones Step	ohens Corp
NPJ01	50	1 1/2" 17 Gauge Chrome P-Trap		X	\$6.66	\$333.00	\$9.00	\$450.00
		Manufacturer / Product #			Brass Tubi	ular / 15CP	Jones Step	ohens Corp
NPJ02	50	1 1/4" 17 Gauge Chrome P-Trap		Х	\$5.79	\$289.50	\$7.48	\$374.00
		Manufacturer / Product #			Brass Tubula	ar / 0140084	Jones Step	ohens Corp
NPJ03	50	1 1/2" PVC Master Trap		X	\$3.34	\$167.00	\$0.83	\$41.50
		Manufacturer / Product #			Canplas /	193231E	CS	8&B
NPJ04B	50	1 1/4" PVC Master Trap		X	\$1.52	\$76.00	\$1.10	\$55.00
		Manufacturer / Product #			Zurn / Z6-0)706K-WH	Jones Step	ohens Corp
NPJ16	25	Kitchen Sink Grid Drain		X	\$6.47	\$161.75	\$4.28	\$107.00
		Manufacturer / Product #			CS&B /	735SS	Jones Step	ohens Corp
NPJ18	50	Spin-N-Grin Basket Strainer		X	\$5.28	\$264.00	\$7.47	\$373.50
		Manufacturer / Product #			Jomar /	301-001	Jones Step	ohens Corp
NPJ20	50	Jr. Duo Bar Sink Strainer		X	\$12.83	\$641.50	\$2.59	\$129.50
		Manufacturer / Product #			Jomar /	300-019	Jones Step	ohens Corp
NPJ21	10	1 1/2" x 16" PVC End Outlet Waste		X	\$5.80	\$58.00	\$2.07	\$20.70
		Manufacturer / Product #			CS&B /	52650	Jones Step	ohens Corp
NPJ22	20	2" Chrome Slip Nut		Х	\$1.31	\$26.20	\$1.10	\$22.00
		Manufacturer / Product #			Best / S	SJNB2	Jones Step	ohens Corp
NPJ25	100	1 1/4" Chrome Slip Nut		Х	\$0.85	\$85.00	\$0.86	\$86.00
		Manufacturer / Product #			Best /	2809P	Jones Step	ohens Corp
NPJ35	100	3/8" x 12" Chrome Closet Supply		Х	\$1.55	\$155.00	\$1.17	\$117.00
		Manufacturer / Product #			Calflex /	′ M712B	Jones Ster	ohens Corp
NPJ36	100	3/8" x 12" Chrome Lav Supply		Х	\$1.48	\$148.00	\$1.18	\$118.00

DATE OF	OPENIN	NG: July 14, 2006 @ 2:30 P.M.			Best Plumbing	Specialties, Inc.	Hughes Plumb	ing Supply, LTD
BID TITLE	: Plumb	ing Supplies - Maintenance Dept.			3039 Ventrie Court / PO Box 30		8326 Lemon Road	
BID # 07-0	31-LR				Myersville, MD 21773		Port Riche	y, FL 34668
		Board Meeting 7/25/06						
ITEM#	QTY	DESCRIPTION	OEM	OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Manufacturer / Product #			Calflex	/ M112B	Jones Ste	phens Corp
NPJ36A	150	3/8" x 20" Chrome Lav Supply		X	\$2.04	\$306.00	\$1.64	\$246.00
		Manufacturer / Product #			Calflex	/ M120B	Jones Ste	phens Corp
NPJ48	25	1 1/2" x 16" Chrome Slip Joint Ext. Tube		X	\$23.50	\$587.50	\$6.95	\$173.75
		Manufacturer / Product #			Diamond Bras	ss / 14220-16C	Jones Ste	phens Corp
NPJ54	25	1 1/2" x 8" Chrome Flanged Tailpiece		X	\$1.95	\$48.75	\$1.82	\$45.50
		Manufacturer / Product #			Brass Tubul	lar / BSFST8	Jones Ste	phens Corp
NPJ57	48	American Standard Smart Valve 2000 Ballcock	Х		\$9.29	\$445.92	\$9.78	\$469.44
		Manufacturer / Product #			American Std.	/ 3198.000-12	Americar	Standard
NPJ60	6	PVC Douglas Flush Valve		Х	\$3.12	\$18.72	\$3.16	\$18.96
		Manufacturer / Product #			Douglas /	/ C05-070	Jones Ste	phens Corp
NPJ96	100	1 1/2" Spud Gasket only		Х	\$0.24	\$24.00	\$0.45	\$45.00
		Manufacturer / Product #			Spud Gasł	ket / W-321	Jones Ste	phens Corp
NPK02	50	1 1/2" Spud Complete		X	\$2.54	\$127.00	\$3.61	\$180.50
		Manufacturer / Product #			EzFlo /	/ 40135	Jones Ste	phens Corp
NPK03	20	1 1/4" Spud Complete		X	\$3.67	\$73.40	\$3.12	\$62.40
		Manufacturer / Product #			Torringto	n / CS-02	Jones Ste	phens Corp
NPK06	20	1" x 3/4" Spud Complete		X	\$2.48	\$41.60*	\$2.98	\$59.60
		Manufacturer / Product #			Torringto	n / CS-08	Jones Ste	phens Corp
NPK25	20	1 1/2" Chrome Spud Coupling Sloan #F-5-AT	Х		\$7.87	\$157.40	\$7.99	\$159.80
		Manufacturer / Product #			Sloan /	iloan / F-5-AT Sloan		oan
NDKOC	20	Class Flush spectage I landle Apaker #B 70 A	V		#40.00	#200.00	C40.40	\$205.70
NPK30	30	Sloan Flushometer Handle Assby. #B-73-A	X		\$10.02	\$300.60	\$10.19	\$305.70
		Manufacturer / Product #			Sloan /	B-73-A	SI	oan

DATE OF (OPENIN	NG: July 14, 2006 @ 2:30 P.M.		Best Plumbing	Specialties, Inc.	Hughes Plumb	ing Supply, LTD
BID TITLE:	: Plumb	ing Supplies - Maintenance Dept.		3039 Ventrie Co	ourt / PO Box 30	8326 Lemon Road	
BID # 07-0	31-LR			Myersville, MD 21773		Port Richey, FL 34668	
		Board Meeting 7/25/06		·			
ITEM#	QTY	DESCRIPTION	OEM OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
NPK33	200	Sloan Diaphram #A-1041-A	X	\$9.31	\$1,862.00	\$23.26	\$4,652.00
		Manufacturer / Product #		Sloan / A	A-1041-A	SI	oan
NPE06	50	1/2" Copper Sweat x Sweat Union	X	\$7.22	\$361.00	\$3.89	\$194.50
		Manufacturer / Product #		Nibco	733	Mu	eller
NPE05	25	3/4" Copper Sweat x Sweat Union	X	\$9.07	\$226.75	\$4.88	\$122.00
		Manufacturer / Product #		Nibco	733	Mu	eller
NPA37	30	4" PVC DWV 45° 1/8 Bend	X	\$2.74	\$82.20	\$3.43	\$102.90
		Manufacturer / Product #		Genova /	6159271	Cha	ırlotte
NPA24	50	4" PVC DWV 90° 1/4 Bend	X	\$3.42	\$171.00	\$4.31	\$215.50
		Manufacturer / Product #		Genova /	6161558	Cha	rlotte
004004	40	4" N/L Cast Iron Floor Drain w/Trap Primer	V	\$405.40	#4.054.00	#45.07	#450.70
SPA99A	10	Inlet, w/5" Square N.B. Strainer	X	\$125.40	\$1,254.00	\$45.37	\$453.70
000040	00	Manufacturer / Product #	, l		5L04-B05NB-P		urn
SPP01C	30	Symmons S-71 Faucet	X	\$57.74	\$1,732.20	\$51.22	\$1,536.60
22242		Manufacturer / Product #	.,	·	ns / S-71	•	imons
SPP01D	30	Symmons S-72 Faucet	X	\$63.31	\$1,899.30	\$56.10	\$1,683.00
	_	Manufacturer / Product #		· ·	ns / S-72	•	imons
SPP02	6	Chicago 895 Faucet	X	\$87.79	\$526.74	\$99.56	\$597.36
		Manufacturer / Product #			/ 895-CP		cago
SPP08D	4	T & S B-2250 Faucet	X	\$109.90	\$439.60	\$102.00	\$408.00
		Manufacturer / Product #		T&S Bras	s / B-2250	Т	&S
SPJ64	60	500 STSCC Black, Elong, Open Front, Less Cover, Toliet Seat	x	\$13.54	\$812.40	\$13.44	\$806.40
3F J04	00	Manufacturer / Product #	^		955C-047		ъооб.40 emis
SPP05	4	T & S B-0674 BSTP Faucet	Х	\$90.92	\$363.68	\$84.90	\$339.60
35503	4	Manufacturer / Product #	^		— \$363.66 В-0674-BSTP		ъззя.60 &S
CDMOO			V				
SPW32	6	Elkay EDF-210-C Fountain	X	\$1,512.75	\$9,076.50	\$1,289.30	\$7,735.80
ODWor	4	Manufacturer / Product #	V		DF210C		kay
SPW31	4	Elkay EDF-10-C	X	\$1,512.75	\$6,051.00	\$394.60	\$1,578.40

DATE OF (OPENII	NG: July 14, 2006 @ 2:30 P.M.			Best Plumbing	Specialties, Inc.	Hughes Plumb	ing Supply, LTD
BID TITLE:	: Plumb	ing Supplies - Maintenance Dept.			3039 Ventrie Court / PO Box 30		8326 Lemon Road	
BID # 07-0	31-LR				Myersville,	MD 21773	Port Richey, FL 34668	
		Board Meeting 7/25/06			·			
ITEM#	QTY	DESCRIPTION	OEM	OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		Manufacturer / Product #			*NLA replac	ed w/ above	EI	kay
SPP30	6	T & S B-0865-04 w/Wrist Blades		X	\$120.50	\$723.00	\$106.50	\$636.90*
		Manufacturer / Product #			T&S Brass	/ B-0865-04	T	&S
SPW12A	3	Elkay EHFSA 8 L1Z Water Cooler	X		\$470.91	\$1,412.73	\$384.10	\$1,152.30
		Manufacturer / Product #			Elkay / El	HFSA8L1Z	EI	kay
SPW03	4	Oasis P8AC Sandstone Water Cooler	X		\$411.77	\$1,647.08	\$310.35	\$1,241.40
		Manufacturer / Product #			Oasis /	/ P8AC	Oa	asis
SPW12A	3	Elkay EZS8L Barrier Free Water Cooler	X		\$378.61	\$1,135.83	\$320.50	\$961.50
		Manufacturer / Product #			Elkay /	EZ58L	Elkay	
SPT60	24	General Wire TGFL Telescoping Auger	X		\$35.95	\$862.80	\$33.50	\$804.00
		Manufacturer / Product #			General W	Vire / T6FL	Gener	al Wire
SPT61	10	24" x 1 1/2" S.S. Grab Bar		X	\$17.69	\$176.90	\$24.18	\$241.80
		Manufacturer / Product #			Taymor / 0	1-C230024	Bra	adley
SPT61A	10	36" x 1 1/2" S.S. Grab Bar		Х	\$21.60	\$216.00	\$26.10	\$261.00
		Manufacturer / Product #			Taymor / 0	1-C230036	Bra	adley
SPT61B	10	42" x 1 1/2" S.S. Grab Bar		X	\$23.65	\$236.50	\$29.50	\$295.00
		Manufacturer / Product #			Taymor / 0	1-C230042	Bra	ıdley
SPT62	10	T & S B-3912 Drain	Х		\$27.29	\$272.90	\$23.19	\$231.90
		Manufacturer / Product #			T&S Bras	s / B-3950	T	&S
SPT63	6	Badger 5 Insinkerator Disposal	Х		\$78.90	\$473.40	\$51.00	\$306.00
		Manufacturer / Product #			Insinkerato	r Badger / 5	Bad	ger 5
SPT68	6	16" x 16" Access Door - 1 Hour Rated		Х	\$77.05	\$462.30	\$73.58	\$441.48
		Manufacturer / Product #			Mifab / Mi	FRU16x16	М	ifab
ODTEGA		2 1/2 Gallon, 110 Volt Water Heater				0057.70	0.100 50	#207.00
SPT50A	6	w/Thermostat		X	\$142.95	\$857.70	\$139.50	\$837.00
		Manufacturer / Product #			Eemax /	EMT2.5	Rh	eem

DATE OF	OPENIN	NG: July 14, 2006 @ 2:30 P.M.			Best Plumbing	Specialties, Inc.	Hughes Pluml	oing Supply, LTD
BID TITLE:	: Plumbi	ing Supplies - Maintenance Dept.			3039 Ventrie Court / PO Box 30		8326 Lemon Road	
BID # 07-0	31-LR				Myersville, MD 21773		Port Riche	ey, FL 34668
		Board Meeting 7/25/06			,			
ITEM#	QTY	DESCRIPTION	OEM	OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
SPT03	4	American Standard Madeira EL 10" Rgh, White, Elongated Bowl, Top Spud Water Closet	X		\$120.09	\$480.36	\$80.00	\$320.00
		Manufacturer / Product # American Standard 12" Rgh, E.B., White			American Std.	/ 2234.015.020	America	n Standard
SPT10	6	Tank Type Water Closet	X		\$160.62	\$963.72	\$68.25	\$409.50
		Manufacturer / Product #			American Std.	/ 2898.012.020	America	n Standard
SPT11	2	American Standard 12" Rgh. E.B., White Tank Type Handicapped Water Closet	X		\$209.96	\$419.92	\$110.10	\$220.20
		Manufacturer / Product #			American Std.	/ 2998.012.020	America	n Standard
SPE01	4	2" Copper SW x SW Union		X	\$60.59	\$242.36	\$29.00	\$116.00
		Manufacturer / Product #			Nibco	/ 733	Mueller	
SPR88	6	1/2" F.I.P.Trap Primer-Mifab MI+TSP-2	Х		\$64.86	\$389.16	\$11.60	\$69.60
		Manufacturer / Product #			Mifab / M	11-TSP-2	N	1ifab
SPJ04A	10	Truepro Lav Guard 102 E-Z White	X		\$32.38	\$323.80	\$21.58	\$215.80
		Manufacturer / Product #			Truepro /	102E-2W	Tr	uepro
SPJ20A	25	Elkay LK-8 Strainer	X		\$25.81	\$645.25	\$22.17	\$554.25
		Manufacturer / Product #			Elkay	/ LK8	E	lkay
NPQ10A	60	Elkay D/F Flow Regulator #61314C	X		\$9.05	\$543.00	\$6.50	\$390.00
		Manufacturer / Product #			Elkay /	61314C	E	lkay
NPQ10B	60	Elkay D/F Flow Regulator #61313C	Х		\$9.05	\$543.00	\$9.22	\$553.20
		Manufacturer / Product #			Elkay /	61313C	E	lkay
MIS1	40	Elkay Regulator Holder #50985-C	Х		\$143.41	\$5,736.40	\$4.76	\$190.40
		Manufacturer / Product #			Elkay /	50985C	E	lkay
MIS2	40	Elkay Retaining Nut #10031C (1500C)	X		\$3.11	\$124.40	\$2.90	\$116.00
		Manufacturer / Product #			Elkay /	10031C	E	lkay
MIS3	25	Elkay Hex Nut #40169C	Х		\$4.17	\$104.25	\$3.98	\$99.50
		Manufacturer / Product #			Elkay /	40169C	E	lkay
MIS4	30	Elkay Lock Nut #70012C	X		\$2.98	\$89.40	\$2.85	\$85.50
		Manufacturer / Product #			Elkay /	70012C	E	lkay

DATE OF	OPENIN	NG: July 14, 2006 @ 2:30 P.M.		Best Plumbing	Specialties, Inc.	Hughes Plumb	ing Supply, LTD
BID TITLE	: Plumbi	ing Supplies - Maintenance Dept.		3039 Ventrie Court / PO Box 30		8326 Lemon Road	
BID # 07-0)31-LR			Myersville,	MD 21773	Port Richey, FL 34668	
		Board Meeting 7/25/06					
ITEM#	QTY	DESCRIPTION	OEM OR EQUAL	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
MIS5	40	Elkay Block Pivot #51531C	X	\$0.56	\$22.40	\$0.36	\$14.40
		Manufacturer / Product #		Elkay /	51531C	EI	kay
MIS6	40	Elkay Assy Bubbler Round Top #56073C	X	\$8.93	\$357.20	\$8.30	\$332.00
		Manufacturer / Product #		Elkay /	56073C	EI	kay
MIS7	40	Elkay Drain Strainer #55996C	X	\$4.91	\$164.40*	\$4.67	\$186.80
		Manufacturer / Product #		Elkay /	55996C	EI	kay
MIS8	40	Elkay Push Button #40048C	X	\$1.90	\$76.00	\$1.80	\$72.00
		Manufacturer / Product #		Elkay /	40048C	EI	kay
MIS9	200	Size "0" Flat Faucet Washers	X	\$0.12	\$24.00	\$0.07	\$14.00
		Manufacturer / Product #		Washer /	W-B-O-F	Radiator Specialty	
MIS10	100	3/8" Chrome Compression Nut	X	\$0.28	\$28.00	\$0.45	\$45.00
		Manufacturer / Product #		Best	/ 61-6	Jones Ste	phens Corp
NPE38	400	1/2" Type L Hard Copper (1/2" x 20')	X	\$80.29**	\$1,605.80	\$1.58	\$632.00
		Manufacturer / Product #		Copper /	105-8965	Ca	arro
SPL22	40	Moen #1200 Cartridge	X	\$15.31	\$612.40	\$12.20	\$488.00
		Manufacturer / Product #		Moen	/ 1200	Me	pen
TOTAL ALL-OR-NONE BID PRICE:				\$55,1	29.67	\$38,7	34.68
*Addition E							
**Price is f	or 20' le	ngths					